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Destination | Kofudai->Mitakedai Komyoji Mitakedai,Komyoji Oku Kaiinji Imazato Hankyu Higashi-muko Sta.| JR Nagaokakyo Sta. Menkyo shikenjo-mae Destination
6 16 46 |a 33 m 30 ©53 45 6
Vi 16 46 (220 a4 m00 =30 10 35 7
8 16 46 |~06 432 m00 =30 © 54 v 21 00 25 50 8
9 16 46 |a02 432 m 00 26 20 9
10 16 46 (202 432 =00 & 54 %42 10 10
11 16 46 |a02 432 m 00 26 00 50 11
12 16 46 (202 432 =00 & 54 %42 40 12
13 16 46 (A02 432 m 00 26 30 13
14 £15 %32 =45 000 %42 20 14
15 £15 %32 =45 000 +02 25 10 15
16 £15 %32 =45 000 %42 00 50 16
17 £15 %32 =45 000 + 20 40 40 17
18 £15 %32 =45 000 %42 30 18
19 £15 %32 =45 000 +02 40 20 19
20 £15 %32 000 %42 w10 20
21 £23 + 20 £40 21
22 £23 22
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Destination | Kofudai->Mitakedai Komyoji Mitakedai, Komyoji Oku Kaiinji Imazato Hankyu Higashi-muko Sta.| JR Nagaokakyo Sta. | Menkyo shikenjo-mae| Destination
6 31 58 m 42 © 53 6
7 28 58 405 a35 =12 =39 30 7
8 28 A05 a35 o 54 v 21 25 8
9 16 46 (A 02 432 = 00 26 20 9
10 16 46 |~ 02 432 = 00 o 54 % 42 10 10
11 16 46 (A 02 432 = 00 26 00 50 11
12 16 46 |~ 02 a 32 = 00 & 54 v 42 40 12
13 16 46 (A 02 432 = 00 26 30 13
14 £15 %30 =45 |000 v 42 20 14
15 £15 %30 =45 |000 ¢ 02 25 10 15
16 £15 %30 =45 |000 % 42 00 51 16
17 £15 %30 =45 |000 + 20 25 40 17
18 £15 %30 =45 |000 % 42 30 18
19 £15 %30 =45 |000 ¢ 02 25 20 19
20 £33 000 % 42 =10 20
21 =21 ¢ 23 £ 29 21
22 22
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